—— A
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
EX: S22
HH: S0z Mg 243
@2 23S Iz =20 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
el e L g 16,332,472 20,944,044 N4 ,611,572
= 863,412
g 2,246,000
Jl 193,556
= 3,642,580
= 9,386,924
2stilzs s 2435 2,642,744 2,088,010 554,734
= 99,400
Dl 162,306
= 145,079
= 2,235,959
23&eR Jla & 2,627,924 2,073,190 554,734
= 99,400
Il 162,306
o 145,079
= 2,221,139
2ot&FE SHa 29,690 29,690 0
201 et 3,590 3,590 0
01 AFR 2t 2| bl 3,590 3,590 0
OLdosd & HY Mg HEX =
500,000 500
OSEHAHYI| &= 2=HH| 2,250
— 2=l 100,000 4 X %3 3| 1,200
—2£=2 350,000 33| 1,050
ORUB2HEAE Titxd 70,000 *4H *33] 840
301 et A =2 600 600 0
09 #HAIAHI XIS 2 600 600 0
OS50z A5, 3o S EIA 24t
100, 000& *63] 600
405 XHAHFEIEHI 25,500 25,500 0
01 XAt 2B F S| 25,000 25,000 0
o =22 7Y 500,000& *50= 25,000
02 = AP 500 500 0
O23t&L20F 28 T A 50,000& *5& *23] 500
AEOIAL2H 29 28,000 28,000 0
201 B9 20,000 20,000 0
01 AP 22| H| 20,000 20,000 0
O&IIZ2AH S&II X &
1,000,000 x203] 20,000
301 et A= 8,000 8,000 0
09 SHAIAHI X & 2 8,000 8,000 0
OsHI Ba=2 400,000 x203| 8,000
=30 = A A& 245,060 63,060 182,000
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2AMd: 2322
M 20z ds 2435
el 2aER I8 =i (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZAE Hd8 sSt=dZXY 20,000,000 *13] 20,000
Od=ZFsU3 50,000,000& =13l 50,000
S20HE XA 40,200 41,200 21,000
307 21201 A 40,200 41,200 21,000
02 It S AIHE L 7,200 8,200 21,000
Ofz Zsna 249 7,200,000& 7,200
03 SIZtHNHE2IHIEE 8,000 8,000 0
OgdUE AE= 29 8,000,000& 8,000
04 DI2HHALALSE E X 25,000 25,000 0
OgtedZstll=olo & 5,000,000& x13] 5,000
O=9 Sotel sX& 20,000,000& =14 20,000
A0S SIACH XA 16,500 16,500 0
307 21201 A 16,500 16,500 0
02 QAFAAFEX 3,500 3,500 0
oge=sr &2t 3,500,000& =13l 3,500
04 DI2HHALALSE E X 13,000 13,000 0
Ot = H 5,000,000& x13] 5,000
Oll=gs g2N=H 2,000,000& x13] 2,000
OMZES SLRNEH 2,000,000& x13] 2,000
O¢=a8al #J13¢ 2,000,000& =13l 2,000
OgtL S H 2,000,000& x13] 2,000
dA23HA 500,000 299,000 201,000
307 glz2tol & 500,000 299,000 201,000
04 DI2HHALAISE E X 500,000 299,000 201,000
O&dZ=Z3tH 500,000,000& x13] 500,000
SeHL23HA 80,000 80,000 0
307 glz2+ol & 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
OgdALZ M 80,000,000& =13l 80,000
S H 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIR 2 & 40,000 40,000 0
Ol & A 40,000,000& *13] 40,000
Cius 243 67,800 58,560 9,240
201 Let49] 52,800 43,560 9,240
01 At 22l 52,800 43,560 9,240
OSY Leind 29 ZA=sE
4,800,000& x110HE S 52,800
307 21201 A 15,000 15,000 0




2N
X ZH -
L= B

el

St
Stz M 243
Zstets Jlal =

SN HH-S(BN) - MBAY - B il HlnE2
04 QIZFHALAIH E = 15,000 15,000 0
Okcing ZHUS 15,000, 000& 15,000
dEES Hs gd 68,000 128,000 260,000
307 glz2+ol & 68,000 97,000 229,000
02 YAFLAAFEX 43,000 43,000 0
O=sd s24i N& 33,000
— dA=E 50,0003 *40AI 2tx11H S & 22,000
—JIXAM 2 S 1,000,000& 11 S & 11,000
Ol 2&3 2435 5,000,000& 5,000
O&H0tE OUs0lz XN& 5,000,000& 5,000
04 DIZHHALALSE E X 25,000 54,000 A 29,000
OX¥EUEE M (ELS) 4,000,000& =13 4,000
OFBEUEE #AH(HH) 3,000,000& =13l 3,000
OBEMHES AH(JIEE)
2,000, 000& 94 & 13| 18,000
F2HE X 2 A2 2el 47,174 43,060 4,114
101 @124l 7,674 7,560 114
04 J12ZtHZ22EE = 7,674 7,560 114
O A 2tel 69,7603 x 1110 7,674
307 gl2tol & 29,500 25,500 4,000
02 SIZtA M AHE L 2,000 0 2,000
O=HHe sa=s 2 1,000, 000& 24 2,000
04 QIZFHALAIH B = 27,500 25,500 2,000
od=z=4d=x Mg 4,000,000& %13 4,000
Oodd== Me 2,500,000& x13| 2,500
Ogsdtd =268 F2HM  7,000,000& 12/ 7,000
OMZAE =348 F=2H  7,000,000& *13] 7,000
Os=2d gs=2H 5,000,000& =13l 5,000
Od&TH M 1,000, 000& *23| 2,000
401 Al Bl 28I 10,000 10,000 0
01 A& HI 10,000 10,000 0
O LA S22 (MY, HI| &)
10,000, 000& 10,000
N3 Mg 20,000 22,000 A 2,000
307 21201 A 20,000 22,000 A 2,000
04 DIZHHALALSE E X 20,000 22,000 A 2,000
OEAHME 4,000,000& %23 8,000
OJIEtA & 2,000,000& 6K 2~ 12,000
gw ¥ 23 XN 42,500 42,500 0
307 21201 A 42,500 42,500 0




SN 22D
M 20z ds 2435
el 2aER I8 =i (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 42,500 42,500 0
ORYHERAIS (B JI2dH) 7,500
— gy 4,000,000& =13 4,000
—etolgtm 3,500,000& 13 3,500
Ogw EFAAM 2,000,000& »20H 2 +23] 8,000
Od322E3 T843=5u=s 27,000
—gYREE 18,000, 000& 12/ 18,000
— R EE 9,000,000& 13 9,000
200l A2HAEE 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
OZddoeol d=3HAEY 15,000,000 *13] 15,000
Aelat 2stHH 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
04 DIZHEHALAFRI 2 & 30,000 30,000 0
OXlelst 2stHl 30,000,000& =12l 30,000
OGERARAELLHAAER X 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIR B = 30,000 30,000 0
OFJI&sd & E83dA 30,000,000& 30,000
T4 DIz AL X2 12,000 11,700 300
2 8.400
s 3,600
307 gl2tol & 12,000 11,700 300
= 8,400
[ia 3,600
04 DIZHHALALSE E X 12,000 11,700 300
OZHIEx= At 12,000
— sta A= DI A 2,000,000& =13l 2,000
= 1,400
i 600
— STALR LEIUS Z4HH 4,000,000 13 4,000
= 2,800
e 1,200
— 2= 28 DAN 3,000,000& =13l 3,000
= 2,100
s 900
—HHE LA ELH 3,000,000& 13 3,000
= 2,100
i 900
MN&E . gn 28AMd 72,500 122,500 250,000
= 29,000
< 10,875
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el
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Ho M0 MO
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x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
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SHIEEAMY 15,500
— 32 St A 5,500,000& 5,500
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—SEMS M 10,000, 000& 10,000
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5,000
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HOE JIGAd (=) 50,000 30,000 20,000
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30,000

e
4n
0

M H

307 21201 A 50,000 30,000 20,000
20,000
30,000
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o 49,000

— 8w 2gH(Egus 29
5,

HO 0z
FA
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)
500,000& *42| 22,000

6,600
15,400

Mo

13,500,000& *2JH 2 27,000

8,100
18,900

SV

0= Fodte 2stEs(EHl) 30,000 30,000 0
8,796
21,204

M

307 glztol & 30,000 30,000 0

8,796
21,204

Mo

2X 30,000 30,000 0
& 30,000

30,000,000& 30,000

8,796
21,204
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2N
X ZH -
L= B

el

M0 MO MO

Stk
stz &g 248
steke I8l =i

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AL 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DI2ZHHALALSE E X 30,000 30,000 0
ORXE Y ASHA} 30,000,000& x13] 30,000
SEE A 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALALH 2 = 30,000 30,000 0
OHEE Al 30,000,000& =13l 30,000
HIAE BEUE 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OdIAx ZEUS 30,000,000& =13l 30,000
gzt 29 30,000 30,000 0
< 30,000
307 21201 A 30,000 30,000 0
< 30,000
04 QIZFHALAIH 2 & 30,000 30,000 0
OZHEx=AH 30,000
—Z2goitsd 29 30,000,000& =13l 30,000
< 30,000
g Fuls 24 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 IAHFAAHFEX 30,000 30,000 0
Ogdrulis 2949 30,000,000& 30,000
CHetols STMHAER HAEY X& 50,000 50,000 0
< 10,000
[ia 40,000
307 21201 A 50,000 50,000 0
< 10,000
[ia 40,000
04 DIZHHALALSE E X 50,000 50,000 0
OZHIEx=AI 50,000
— el SMHAES HAEEY
50,000,000& 50,000
< 10,000
e 40,000
2otHAEE 145,000 0 145,000
201 24| 145,000 0 145,000
03 A2 Z Hl 145,000 0 145,000
OZHIEx= AL 145,000




fAH: S2st22 1
M 20z ds 2435
el 2aER I8 =i (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 2SHAEY M= (28 RES)
145,000, 000& 145,000
Fstolsoierx s 14,820 14,820 0
deil=0l HMEH 29 14,820 14,820 0
201 Let24d] 14,820 14,820 0
01 At 22l 5,000 5,000 0
O&e=s0l MEgd |X 2= 500,000&«10& 5,000
02 =224l 9,820 9,820 0
Oddis0l MEX HMIIZ2 S 9,820
—8&II2,8423,H0=2= 8,500,000& 8,500
—dJ|erd el 110,000& 128 1,320
R BEFH| 2,463,125 4,576,605 A 2,113,480
= 764,012
< 584,405
s 1,114,708
EM L dSAE EFHI 2,132,024 3,631,852 A 1,499,828
= 764,012
< 582,205
[ia 785,807
KNS 2 L SESAMESTH (SSH2ARS) 11,000 0 11,000
= 7,700
< 1,650
e 1,650
401 Al HIZ 201 8] 11,000 0 11,000
= 7,700
< 1,650
i 1,650
01 A& HI 11,000 0 11,000
O3HIEXZ ALY 11,000
- =282 Ps(48) 24, X
11,000, 000& * 14 11,000
= 7,700
< 1,650
i 1,650
SNHNE2SM & SESFMESFH (2322 L 9,000 0 9,000
2)
= 6,300
< 1,350
e 1,350
401 Al HIZ 201 8] 9,000 0 9,000
= 6,300
< 1,350
e 1,350
01 A& HI 9,000 0 9,000
O=HIEXZ ALY 9,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 15,000
02 U EALEZ(0IETHR) 100,000 0 100,000
O=HIEX ALY 100,000
—SHEA MEAEY FH HS ZUIZAM
100,000, 000& 100,000
= 70,000
< 15,000
s 15,000
Orztz2x g 4X 40,000 0 40,000
= 28,000
< 4,200
[ia 7,800
401 AIEHIZL 201 40,000 0 40,000
2 28,000
< 4,200
s 7,800
01 A& HI 39,568 0 39,568
O=HIEXZ ALY 39,568
—UEDY FAABIY HXBA
39,568,000 x 14! 39,568
= 28,000
< 4,200
e 7,368
03 A& S THHI 432 0 432
OZHIEx= At 432
—UEDY OIAYBIY SXTA
0,000, 000& *1.08% 432
EXNEEZ a2l 610,000 433,000 177,000
< 255,000
[ia 355,000
401 AIEHI L 2 CHYI 410,000 433,000 A 23,000
< 205,000
[ia 205,000
01 A& HI 407,048 429,904 A 22,856
OEHIEXZAY 407,048
— SUMX AXE0ehEa EE™e
16,878,000& 14 16,878
S 8,500
s 8,378
— Y MY HA 90,345,000 » 14! 90,345
< 45,500
[ia 44,845
— g2y ExF| 109,208, 000& 14 109,208
= 55,000
s 54,208
— %2 EMNDIt B=FH|
11,914,000& 14 11,914




SN 22D
I 2SR BNHFH
Sl 25 X MSME 24T CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 6,000
2 5,914
— Qo AR BaFY
39,712,000 = 14! 39,712
= 20,000
= 19,712
— W3y =8 A 15,885,000& = 1Al 15,885
o= 8,000
= 7,885
— 5 SXIASEAIA F=H CCTVE X
29,784,000 *14! 29,784
= 15,000
= 14,784
—C =2 AUR BESAY 7,942,000 x14! 7,942
&< 4,000
2 3,942
Wl ALS X BEAY
42,690,000 =14l 42,690
= 21,500
2 21,190
~ Y HUS ALY
42,690,000 =14l 42,690
< 21,500
= 21,190
03 AlE 21| 2,952 3,096 N 144
OZHEXZANY 2,952
— S XNE23 M2 410,000, 000& *x0.72% 2,952
402 IV X201 M 200,000 0 200,000
= 50,000
= 150,000
02 CIZEXIE AL EX (0| XM THL) 200,000 0 200,000
OEHEZAY 200,000
— TN 2BUGASEY FH Ty
200,000,000 1Al 200,000
= 50,000
= 150,000
HEAE BTHAIAE SN2 66,800 58,844 7,956
= 33,400
&< 10,020
= 23,380
401 Al HI L 2 THHI 66,800 58,844 7,956
=2 33,400
= 10,020
o 23,380
01 Al& B 66,800 58,844 7,956
OZHIEXZANY 66,800
— A 2 TOHA BHTHAIAE SIESL
66,800, 000& = 14! 66,800
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